SPHI02F7TR M ERmME DN

- AN LRIEGRFE CRERER)AT EP I F ST
HE(PSI)4r % 1~ £ 34757 » AR W 4e W1~ B3#777 o & 1 T %%
HEFEEAUE A S 50.65% B ik k sk 5 0.54% 0 & TRl
% 0% e

SRV AP MEREGEF CRFEL LT REFFER Y
Bos XA @ s B s F AT sk A7 PS| 1002 F 2 p 21

/4

P S TRIEE AT AT ZME ST v ER N2 Rp ek
PSI>1002 % # p £ 5 1k p 5 & Tk ~ 54~ ~ 0= Aiplt

A% @PSI>1002. F # p o KT Ik 4~ £ 6977 o

I

~102# B %% L plsk 3272 31p ok > PSI>100 % 3t 2k p 22 B 0 R
P 4T
LE R R ebp 20B2p 2L ERDAAR o doRl44T -
2.7 R RED OB > B2 ERPAPR > AoBISHTT o
34 B bR ebp A2BHEp 0 B2 ERBHH LD > oB67T
T oo
4.8 PR abp Z0BsEp 23 ERDApR o oBTH7T o
O MRk E g S0Bkp B2 ERAARR C AoRIBATT -




e~ 102# kA LRIHTT77 31p 2 o PSIS100 % 355k P & £ v R
BEERP 4oT
Le2xR3 :p Z0Bep > 23 ERIARR  AoBOHTT o
2.5 T bR p G0Bp o 23 ERHAF o LoBL09TT o
3A T bRt abp 52D o A ERYR LD o oBILLAT
T oo
4.5 %k Rk p G5Bk p o B3 E R IR S Lebp o doBl12¢47
T o
5.6 P skR3rsbp S0Bp » 3 ERDRESLED o 41397
T o
6. Lizb Rrebp G2 p 0 o EREH 425 o Ao Fl1497
T oo
T~ EFREEATPSIE S S0 RS54 5 S5 o FARTY
19p 20 = LRIk o R iR Rlzk & 0 PSS~ 5104 g3 A4 5
LF g AT20p 2 Fkplk o £ T plsk A 7 PSIE % 595
B RS RF o FATY 1P 2 FoRiRlE -
Ao~ ¢ LREPSI>100 2 p BT F ST LR FAATA0LT

S 7




21 % pIxE102& 72 (»PSljk R

T TR 70 R =2 &P &
PSI | i34 4 | PSI R PSI | 5 %4 | PSI SRy PSI | 54+
102277 01p 52 p?/?l’o 49 03 68 03 52 03 48 P(K/I?:l,o
102&7% 02P 92 03 72 03 93 03 89 03 78 03
102&7% 03P 53 03 26 03 41 03 40 03 36 03
102&7% 04p 61 03 36 03 56 03 53 03 44 03
102&7% 05p 35 03 34 03 40 03 40 03 36 03
102#7% 06 P 51 03 45 03 47 03 52 03 49 03
102&7°% 07 P 42 03 37 03 44 03 44 03 40 03
102#7% 08P 57 03 39 03 50 03 52 03 46 03
102&7% 09p 29 03 27 03 29 03 35 03 28 03
102&7% 10 51 03 42 03 46 03 45 03 43 03
102&7% 11p 42 03 39 03 51 03 47 03 43 03
102&7% 12p 46 PM10 49 PM10 67 03 48 PM10 48 | PM10
102&7% 13p 45 03 56 03 48 03 52 03 50 03
102&7" 14p 31 03 40 03 32 03 37 03 37 03
102&7" 15p 56 03 46 03 50 03 49 03 42 03
102&7" 16 38 03 36 03 32 03 34 03 27 03
102&7% 17p 46 03 39 03 62 03 51 03 44 03
102£7% 18P 63 03 57 03 69 03 88 03 81 03
102&7% 19p 61 03 63 03 110 03 70 03 65 03
102&7% 20 61 03 55 03 90 03 74 03 64 03
102&7% 21p 54 03 49 03 49 03 51 03 47 03
102&7% 22p 50 PM10 40 | 03,PM10 74 03 62 03 53 03
102#7% 23p 82 03 48 PM10 80 03 81 03 61 03
102&7% 24P 70 03 54 03 85 03 79 03 71 03
102&7" 25p 50 03 38 03 42 03 43 03 41 03
102#7% 26 P 47 03 53 03 55 03 56 03 53 03
102&7% 27p 59 03 63 03 61 03 59 03 54 03
102&7" 28p 55 03 48 03 54 03 49 03 46 03
102&7% 29p 40 03 31 03 57 03 52 03 43 03
102&7% 30 55 03 33 03 65 03 43 03 45 03
102#7% 31p 43 03 40 03 49 03 49 03 44 03

LFF kiR RFF 2] RFENTREGH

B KGRI WS




2 Tk plxE102& 72 (»PSljk R

. ~ X T g 5P 2 ~ b

i PSI | i5#4 | PSI | 54 | PSI |34+ | PSI | 5%+ | PSI | 5%+ | PSI | 5%+
102&7" 01p 43 PM10 | 47 03 73 03 66 OK; 55 | PM10 59 03
102#7* 02p | 60 03 98 03 77 03 89 03 80 03 97 03
102#77 03p | 39 | PMI10 | 44 03 46 03 40 03 43 03 44 03
102&7% 04p 33 PM10 | 56 03 62 03 54 03 43 03 55 03
102#7% 05p 26 PM10 | 36 03 39 03 39 03 36 03 55 03
102#7" 06 P 28 03 49 03 49 03 45 03 47 03 60 03
102#7% 07p | 24 03 43 03 47 03 47 03 40 03 48 03
102#7% 08p | 27 03 55 03 51 03 43 03 47 03 55 03
102#77 09p | 23 | PM10 | 37 03 35 03 27 03 25 | PM10 | 27 03
102&7% 10P 38 03 48 03 50 03 51 03 44 03 52 03
102&7% 11p 35 PM10 | 51 03 59 03 50 03 46 | PM10 55 03
102&7% 12p 52 PM10 | 81 03 75 03 62 03 58 | PM10 53 PM10
102# 77 13p 53 PM10 | 77 03 50 PM10 55 OK; 44 | PM10 59 03
102&7" 14p 27 PM10 | 61 03 33 PM10 32 OK; 49 | PM10 47 03
102#77 15p | 32 03 56 03 55 03 42 03 46 | PM10 | 25 | PMI10
102#7% 16 23 03 49 03 41 03 28 03 52 | PM10 37 03
102&7% 17p 35 PM10 | 68 03 85 03 58 03 42 | PM10 56 03
102#7" 18P 41 PM10 | 67 03 70 03 84 03 66 03 89 03
102&7% 19p 48 03 94 03 88 03 81 03 54 03 76 03
102&7% 20 35 03 87 03 104 03 81 03 54 03 78 03
102&7% 21p 40 03 51 03 57 PM10 49 03 51 | PM10 56 03
102&7% 22p 29 PM10 | 75 03 99 03 56 03 54 | PM10 64 03
102&7% 23p 30 03 81 03 72 03 53 03 57 03 66 03
102&7% 24p 42 03 59 03 88 03 82 03 58 03 88 03
102&7% 25p 25 03 31 03 42 03 42 03 40 03 52 03
102&7" 26 40 03 57 03 52 03 56 03 46 03 68 03
102&7% 27p 45 03 68 03 62 03 60 03 58 03 66 03
102&7% 28p 22 03 70 03 58 03 57 03 45 03 63 03
102&7% 29p 24 03 78 03 72 03 47 03 39 | PM10 35 03
102#7% 30 36 03 82 03 72 03 60 OK; 50 | PM10 60 03
102#7% 31p 43 03 47 03 62 03 0 53 | PM10 57 03

G 33t s AESRIE T4




%3 & 7 psE102# 77 »PSLkw

B [y ik + ik
PSI |i5%4% | PSI |#A%% | PSI |F%%
102&7% 01p 50 PM10 95 03 46 03
10277 02p 66 03 64 03 74 03
102#7 7 03 p 37 PM10 35 PM10 44 03
10277 04p 40 PM10 40 PM10 57 03
102#77% 05p 47 PM10 42 PM10 49 03
102&7 7" 06 p 41 PM10 37 PM10 66 03
102&7% 07p 37 PM10 36 PM10 55 03
102#7" 08 p 39 PM10 39 PM10 55 03
102#7 7 09 p 38 PM10 41 PM10 54 03
102#7* 10p 35 PM10 39 PM10 45 03
102#77 11p 41 03 47 PM10 54 03
102274 12p 54 PM10 60 PM10 32 PM10
102#7%* 13p 51 PM10 58 PM10 75 03
10277 14p 34 03 39 PM10 52 03
102&7% 15p 33 PM10 38 03 58 03
102&7% 16p 34 PM10 41 PM10 41 03
102&7% 17p 45 PM10 51 PM10 62 03
102&77" 18p 53 PM10 57 PM10 59 03
102#7% 19p 56 03 58 PM10 82 03
102#7% 20F 54 PM10 62 PM10 74 03
10277 21Fp 48 PM10 53 PM10 57 03
102&7% 22p 47 PM10 55 PM10 61 03
102&7% 23p 52 PM10 55 PM10 50 PM10
102&7% 24p 54 03 50 03 72 03
10277 25p 36 03 33 03 50 03
10277 26p 51 03 45 03 73 03
102&7% 27¢p 57 03 50 03 83 03
102#7% 28p 46 03 43 PM10 71 03
102&77% 29p 34 PM10 34 PM10 31 03
102&7% 30p 40 PM10 38 PM10 47 03
102&7% 31p 39 PM10 37 PM10 48 03

G fsh o A Gkt TEET)




4 TR EF - BUPIEET P BAt &
=k 77 2 A p o At p 3R
Ay L3 B RRY ) L5 &3t A
2R 0 0 0 0 0 0 0.00%
oy} 0 0 0 0 0 0 0.00%
a4 0 1 1 1 1 2 0.94%
& 0 0 0 0 0 0 0.00%
g 0 0 0 0 0 0 0.00%
&3t 0 1 1 1 1 2 0.19%
MKAAFAF=FF 552 2R3+ p#k/102& p = k3 p &
25 TR - BpEE7 L p FA 4
-, 70 A vshp i R [
T kR SF | £y (k| S5 | £ FAE
<@ 0 0 0 0 0 0 0.00%
T 0 0 0 0 2 2 0.95%
5 0 1 1 1 4 5 2.36%
5 B 0 0 0 0 1 1 0.47%
22 0 0 0 0 0 0 0.00%
2 L 0 0 0 0 2 2 0.94%
&3 0 1 1 1 9 10 | 0.79%
MAALFAF=3F %F2 LR+ p /10227 % F3p &
%6 § BlEE 7 P Hokiit &
7% 7 2xbp o otk p e 7oA
Bl | RRP | S F E3 | RRP | L3 3 | A
iz 0 0 0 0 0 0 0.00%
ok 0 0 0 1 0 1 0.47%
~ ik 0 0 0 0 0 0 0.00%
&3t 0 0 0 1 0 1 0.16%
MARFAF=2F &FF 2R pdc/102# p 5 Rt p ¥k




PSLE 5349
120 A

100

30

60

40

20

1 2 3 45 6 7 8 9 101112131415161718 19202122 2324252627 2829 3031
8

Bl 7 =% plxk7 2 PSIE % * 485 B

PSI{E AR
120

100

g0

60

40

20

12345678289 101112131415136171819202122232425262?28293031

B2 Tk B plxk7 2 PSIE % 4845 B

PSI{& & G )b
120

100

g0

60

40

20

— ek kAR e

1 234 56 78 9 1011121314151617 18192021 22 23 242526 27 2829 30 31
8

B3 4 7 p=k7 7 PSIiE 5 (* 484 )

Z



—
[=)}

—
=

o
[S¥]

PSI=100 # i 35 B

i3 8

ol o
T

PSI=100 7

—
(=)

@

(3]

18

16

14

LN

. iy pi s S £ iy '!-ﬂ_. T T T T
18 28 3B 48 S5SB 68 7H 88 %A 1WA 1B 1A
Aty

8, & % 3 5 s — ’I ———
18 2H 38 48 5H 68 7H 88 S8 WH 17 128
H f’r}‘

BS V) R p|xEPSI>100 p B2 & ¥ R AL A TF B




35

30

[ S%]
n

(3]
=]

PSI=100 7 :f 5 B

[
n

10

PSI=100 2 &t &5 7

R E

15

N=]

[=)}

1A

116

2B 38 48 SH 68 7B 88 S 1WH 1A 12R
H 7

< 2 p|=LPSI>100F #c2z &2 R A 05 B

Dol -
,f;: ur} x5

THEOQIE T Te03E ¢

—Boo5E AR S 9TE A8

KO0 ST I00FE EOI0IE 1028

18

w7

c .
B = o i i

28 38 4B sﬁ 5'IJEJ 7)? 88 o8 1WH 178 1283
A 1

i

=\

& PRl =kPSI>100 p Bz ik * R fF A




PSI=100 Z 3t 55 8

PSI=100 2 3+ B

20

15

10

=

—
(wa)

—
oy

-
=

—
]

—_
(o7 R

g &L v

—::—glﬁ

——gotE /‘
—e—g3

——gut '3

—B—g54
—A— 964
== n7¢

—A— Qg4
—¥— o
—&— |00

e

=
Yy
- H-
- P —ff— —— —

1)% 2H 3%] 4% SH 6% 7)% 88 oA 1WA 1A 1A
Aty

B8 & & p|xLPSI>100p #c2 & ! % A & H

o B ¥

—HEIFE e FE e 93E ¢ FE A

—HE-95FE A 9FE S 9rE A ggE

—F—09FE S 100 E01FE A I0F

A
// =

a : H/. 2 ’

1 28 38 48 SH 68 78 8 ©SH WA 1A 128

ERP)

B9 & 2 p|zkPSI>100p #c2 & ! A & H

10



18

16

14

PSI=100 2 3t 35 A

30

v
[=]

PSI=100 Z 3t #5 8
—
g

=
[=]

a1

7
_.‘ ‘ _ ——— —————
13 2H 38 4R 58 68 7H 8F SH WH 118 128

A
B10 < 7 jp[=PSI>100p #ic2 32 ¥ B A A G

K F-3b

gl R E e g3E ¢
—B95FE —E9E —O9E A ogE

99 TS 100 W01 1028

eRv)

BI1l = TR =PSI>100p #icz & * R f & 7 B

11



e ;:
5 b

50
5 | .
~—~»‘*92ﬁ5 -i/.
40 0% )
—0—94513
w35 —E—o58
:30
2
~ 25
7!
[= )
20
15
10
5
0 iﬁs =
17
Hr
B112 7% ip|=LPSI>100 p dc2 & 7 % A 1 )
& B
25

358

i
3]

PSI=100

—— 04

—Bg5E /A/é—ﬂ
20 9% A

—o—g7i W
—h—ogtE /
—K—QoE

—&— 100
—— 015
—h— 024

— —
(=] N
[
[
[

1H 28 38 48 5B 68 78 8 SH 1WA 1F 12H

A 17

BI13 & p p|=-PSI>100 p #ic2 ik * B ff 4 fF )

12



)\ Llrl l"—v}r

30
27 ——
+93$ /.
o Q4%E
—Eo5E »
LX) S o6k 4
= ——o7 ¥
3 18 e -
é —K— Qo /0—0—0—/
: 15 —9—100@ P / %
2 1 —— 1014 o i
0 =
~ / F—ah 7
O d. V u RSy T T T T T T T T T T T T T T T T T T
13 28 383 48 5B 68 78 88 9% 1WA 173 128
A
Bl14 < 1 p|zEPSI>100p #Hcz 2 2 R 7}%%4\ )|
27 4¢3 2§ &F & R TS 19(PSI>100)
——7‘[‘: 7%’ rr‘;'?ﬁ‘ NS N #Fl *%‘_ N\
gy P PR R
102.7.19 | ~ 2 | 110 5 | wlpERIERN KRS o
102.7.20 | &% = | 104 5 | wlpERIERN KRS o

(=9 53t A oskiE > HiEs

ol

)

A\

13




